DIRECTORATE OF ELEMENTARY AND SECONDARY EDUCATION KHYBER PAKHTUNKHWA PESHAWAR TENTATIVE LIST OF BIDDERS FOR TECHNICAL EVALUATION FOR PROCUREMENT OF IT Equipment's, Electronic Equipment's, Furniture Package (1)

S#	Name of Firm	Years of Incorporation	Total tax paid by the bidder i.e. Income Tax, Sales tax & other tax (if any) during the last three Years, Marks = 20	Experience of Similar Nature Projects Three (03) projects in last Five years of similar Nature (i.e. IT Equipment, Electronic Equipment's and Furniture) *Each Project will be considered individually and their average will be taken for marking final score Marks = 20	Current Assets of last three fiscal years. Each years of current assets will be considered individually and their average will be taken for marking final score Marks =20	Annual Turnover Marks =10	Service Center Marks =10	Total Skilled HR of the Bidder (provide brief CVs including skills and contact numbers)	Total Marks =100
1	Quick Business Solution	10	10	20	20	10	10	05	85
2	CITITEK (Pvt)Ltd	10	20	20	20	10	10	05	95 In Package 1 The Specification of laptop were low
3	EGS Pvt Ltd	10	20	20	20	10	10	5	95 In Package 1 The Specification of laptop were low
4	Micro System Peshawar	10	07	20	10	10	03	03	63
5	Darul Fanoon	10	20	20	20	10	10	10	100

			In Package 1
			The
			Specification
			of Wifi
			excess
			Points were
			low

Package (2)

S #			Total tax paid by the	Experience of Similar Nature	Current Assets of last	Annual	Service	Total Skilled HR of	Total
		Years of	bidder i.e. Income Tax,	Projects	three fiscal years.	Turnover	Center	the Bidder (provide	
	Name of Firm	Incorporation	Sales tax & other tax (if	Three (03) projects in last Five	Each years of current			brief CVs including	
			any) during the last three	years of similar Nature (i.e. IT	assets will be			skills and contact	
			Years,	Equipment, Electronic Equipment's	considered			numbers)	
				and Furniture) *Each Project will be	individually and their				
				considered individually and their	average will be taken				
				average will be taken for marking	for marking final score				
		Marks =10	Marks =20	final score Marks = 20	Marks =20	Marks =10	Marks =10	Marks =10	Marks =100
1		10	20	20	20	10	10	10	100
	Danyal Trader								
2									
	Darul Fanoon	10	20	20	20	10	10	10	100

Package (3)

S #			Total tax paid by the	Experience of Similar Nature	Current Assets of last	Annual	Service	Total Skilled HR of	Total
		Years of	bidder i.e. Income Tax,	Projects	three fiscal years.	Turnover	Center	the Bidder (provide	
	Name of Firm	Incorporation	Sales tax & other tax (if	Three (03) projects in last Five	Each years of current			brief CVs including	
			any) during the last three	years of similar Nature (i.e. IT	assets will be			skills and contact	
			Years,	Equipment, Electronic Equipment's	considered			numbers)	
				and Furniture) *Each Project will be	individually and their				
				considered individually and their	average will be taken				
			M 1 20	average will be taken for marking	for marking final score			M 1 40	Marks =100
		Marks =10	Marks =20	final score Marks = 20	Marks =20	Marks =10	Marks =10	Marks =10	
1	Quick Business	10	10	20	20	10	10	05	85
	Solution								
2	JW Online PVT Ltd	10	07	20	10	10	10	10	77
3	Al-Qadir	10	07	20	20	10	03	10	80
	International								
4	Alihamza Advertiser	10	07	20	20	10	10	05	82
5	Darul Fanoon	10	20	20	20	10	10	10	100

Package (4)

S #			Total tax paid by the	Experience of Similar Nature	Current Assets of last	Annual	Service	Total Skilled HR of	Total
		Years of	bidder i.e. Income Tax,	Projects	three fiscal years.	Turnover	Center	the Bidder (provide	
	Name of Firm	Incorporation	Sales tax & other tax (if	Three (03) projects in last Five	Each years of current			brief CVs including	
			any) during the last three	years of similar Nature (i.e. IT	assets will be			skills and contact	
			Years,	Equipment, Electronic Equipment's	considered			numbers)	
				and Furniture) *Each Project will be	individually and their				
				considered individually and their	average will be taken				
				average will be taken for marking	for marking final score				Marks =100
	1	Marks =10	Marks =20	final score Marks = 20	Marks =20	Marks =10	Marks =10	Marks =10	
1	Quick Business	10	10	20	20	10	10	05	85
	Solution								
2	Darul Fanoon	10	20	20	20	10	10	10	100

Package (5)

No Bidder Apply for Package (5)

Package (6)

S	#		Total tax paid by the	Experience of Similar Nature	Current Assets of last	Annual	Service	Total Skilled HR of	Total
		Years of	bidder i.e. Income Tax,	Projects	three fiscal years.	Turnover	Center	the Bidder (provide	
	Name of Firm	Incorporation	Sales tax & other tax (if	Three (03) projects in last Five	Each years of current			brief CVs including	
			any) during the last three	years of similar Nature (i.e. IT	assets will be			skills and contact	
			Years,	Equipment, Electronic Equipment's	considered			numbers)	
				and Furniture) *Each Project will be	individually and their				
				considered individually and their	average will be taken				
				average will be taken for marking	for marking final score				Marks =100
		Marks =10	Marks =20	final score Marks = 20	Marks =20	Marks =10	Marks =10	Marks =10	
1	O & A Business	10	20	20	20	10	10	05	95
	Machine PVT LTD								
2	M/S Hizbullah Khan	10	20	20	20	10	10	05	95
	& Sons								In Package 6
									The
									Specification
									were low